
For	
  this	
  reac,on	
  
	
  	
  	
  
	
  H2(g)	
  +	
  (1/2)O2(g)	
  →	
  H2O(g)	
  	
  	
  	
  
	
  ΔH	
  =	
  –286	
  kJ/mol.	
  	
  	
  	
  

	
  
is	
  pΔV	
  	
  	
  

1.  posi,ve, 	
  	
  
2.  nega,ve,	
  	
  	
  
3.  zero?	
  



For	
  this	
  reac,on	
  (occurring	
  in	
  a	
  vessel	
  at	
  STP)	
  
	
  	
  	
  
	
  H2(g)	
  +	
  (1/2)O2	
  (g)→	
  H2O(g)	
  	
  ,	
  	
  
	
  ΔH	
  =	
  –286	
  kJ/mol.	
  	
  	
  	
  

	
  
is	
  the	
  magnitude	
  of	
  the	
  internal	
  energy	
  change	
  	
  
(|ΔUint|)	
  	
  	
  

1.  Greater	
  than	
  286	
  kJ/mol?	
  
2.  Less	
  than	
  286	
  kJ/mol?	
  	
  	
  
3.  Equal	
  to	
  286	
  kJ/mol?	
  

	
  
(Hint:	
  Es,mate	
  the	
  value	
  of	
  pΔV)	
  


